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(1) permeability and seepage (2) unconfined compression strength
(3) grain size distribution curve  (4) plasticity index [164+]
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(1) 6L BBz BEHHECY =7 (cm’/sec) [547]

() #LEBEMEEAO0PaE A T REXERFRNEE? [84]

() WA AEB » s F4 £ BB P E(BPE TR E 3mR)EH F /& /1 60kPatk F2.94 514 2
WERHREBENT [65]

(@) 35 EBAEF EMR/160kPatk A F2945 % 2 2 2R F R E? [64°]

U
[4257: Upe<60% » T = %(—K;%‘-)Z ; Ung>60% » T =1.781-093310g,, (100~ U, %)]

O TS
Field 1 [T
l } 1 60 kPa o
v = (a)
= z=f 1|
] 7w 0D
1% - (, -
TR R (C) ; I = M\ N\
B R AN N M T RN e : g
BA o b S e e T

ERAEIt SRR Mk B T
0 o061 02 03 04 05 06 07 ‘ 08 09 1.0
Consoligation ratio, U,

BB



£ 2 Ht 2 B

B I E MR B ok 2 e
100 EAE BRI BB LIRS IHEA 2SS e 1y

4. %ol CHT  RAENBRRAARBERELRTR B REF4m ERHLERT 2 ] ZBE €
1FFLHAKR A 882kPa - R\ LR Cdbaf o L - FEERBEZ B é@-zd % 18.0 ~
17.5 & 18.5kN/m® « |
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Test-1: R E B 0, =50 kPa 4k A F » #3452 4 £ J& A (deviator stress, Acg) =96 kPa
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(1) Test-2 Fa3 R 2 - NERA (0, ) BEREEA (0,):7[5 %]

() # Test2» AW AB R EZEGRA (o)) BYRA T:2[5 ]

Q) REH L RmERRIERARRBH ALK T EREIARAARBOLG2ITEX) B
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